Installation instructions
Montageanweisung
Instrucciones de montaje
Notice de montage
Istruzioni di montaggio
Installation och skétsel
LEULAAPH

MHCTpYyKUMA NO MOHTaXy

en
de
es
fr

it

sv
cn
ru

ABB Automation Products GmbH
Wallstadter Str. 59

68526 Ladenburg, Germany
Phone: +49 62 21 701 1444

Fax:  +4962 217011382
E-Mail: plc.support@de.abb.com

www.abb.com/PLC

en A Warning!

Installation and maintenance have to be
performed according to the technical
rules, codes and relevant standards,
e.g. EN 60204-1, by skilled electricians
only.

A Warnung!

TU505-FBP
TU506-FBP

3ADRO 24 005 M6801

es A jAdvertencia!

La instalacién y mantenimiento de estos
aparatos debe efectuarla un especialista,
de acuerdo a las reglas, instrucciones y

normas relevantes, p.ej.: EN60204-1.

fr A Avertissement!

3ADR331006S0012

2CDC331030F0009

TU505

TU506

it A Avvertenze!

L’installazione e la manutenzione devono
essere realizzate in accordo con le
normative tecniche vigenti

(esempio: EN60204-1) solamente da
personale specializzato.

sv A Varning!

de
Die Installation und Wartungsarbeiten L’installation et la maintenance de cet Installation och underhall av denna
dieses Gerates miissen durch eine Elek- appareil doivent étre réalisées par des apparat far endast utféras av behorig
trofachkraft durchgefiihrt werden, nach personnes compétentes et connaissant person, och enligt gdllande foreskrifter
den anerkannten technischen Regeln, les textes et directives reglementaires, och standarder t.ex. EN 60204-1.
Vorschriften und relevanten Normen z. B. ainsi que les normes de référence telle
EN 60204-1. que la norme EN60204-1.
cn A ] ru A BHumaHue!
ZFE AR FHER RAER T WA A SRR MoHTax 1 06CnyKMBaHUE AOMKHBI BbINOMHATLCS
FAMIE, MEMEXMNIRE, TONLKO KBANU(ULMPOBAHHLIMU 3NEKTPUKAMHU,
EEan EN60204RYSE—ERSy, #ITIRIE. B COOTBETCTBUM C TEXHUYECKUMM NpaBUnamu,
HOPMaMM M COOTBETCBYHOLMMY CTaHAAPTaMM,
Hanpumep EN 60204-1.
en Please refer to the “Regulations Concerning es Las indicaciénes de seguridad se hallan it  Fare riferimento a ,,Prescrizioni per I'in-

the Setting up of Installations” for safety
instructions.

Refer to www.abb.com/PLC,

document no.: 3ADR025003M99*

(* = sequential version number)

de Die Sicherheitshinweise entnehmen Sie

bitte den ,,Vorschriften fiir das Errichten von

Anlagen®.

Siehe www.abb.com/PLC,
Dokumentennr.: 3ADR025003M99*
(* = fortlaufende Versionsnummer)

en las “Prescripciones vigentes para el
montaje de instalaciones”.

Entre en www.abb.com,

cédigo de documento: 3ADR025003M99*
(* = Numero de version secuencia)

fr Lisez les « Régles relatives a I'implantation

des installations » pour trouver les
prescriptions de sécurité.

Se référer a www.abb.com,

N° de document: 3ADR025003M99*
(* = N° de version séquentiel)

stallazione di impianti“ per le istruzioni di
sicurezza.

Fare riferimento a: www.abb.com/PLC,
documento no. :3ADR025003M99*
(* = Numero della versione & sequenziale)

sv Var vinlig beakta sdkerhetsinstruktionerna
i ”Foreskrifter for uppstalining av
anlaggningar”.

Se www.abb.com/PLC,

Dokument nr.: 3ADR025003M99*

(* = Lopande versionsnummer)

cn REWFMBMERE, BSR ru  VIHCTpyKUMM No 6e30nacHOCTV NpUBeaeHbI
“REREES . B «[onoXeHns No COOPYEeHMIO YCTAHOBOK».
2BV HY45S: 3ADR025003M99*, O6paTtuTech K AoKymeHTy 3ARD025003M99*
T[7E www.abb.com/PLC Rk . Ha caiite www.abb.com/PLC
(* = lREKF55) (* = nocnepoBaTenbHbLIN HOMEP BEPCUM)
en Recycling de Recycling es Reciclaje fr Recyclage |§|
it Riciclaggio dei rifiuti sv Avfallsatervinning cn [EUL rus YTunusauus oTxo4oB
|
en Assembly de Montage es Montaje fr Montage it Montaggio sv Montage cn A% rus C6opka
en The Terminal Unit is put on the DIN rail above and then snapped-in below
de Den Klemmenblock oben in die DIN-Schiene einhangen und unten einschnappen
es Encajar el bloque de bornas en la parte superior del carril DIN y a continuaciéon
encajarlo en la parte inferior 0 0 gD
fr  Engager 'embase de connectique en haut sur le rail DIN et la faire pivoter vers
le bas jusqu’a ce qu’elle s’encliquéte |-
it Agganciare il supporto base sopra la barra DIN e farlo chiudere a scatto nella O ©
parte inferiore S HB B
sv Hang anslutningsplattan upptill pa DIN-skenan och |at det snappa fast nedtill § E § E
cn O 1/ORCARATEDING S L3k, ZREIE T shmedr 0 S f
ru  MoHTaxHOe ocHoBaHue ycTaHaBnuaaetca Ha DIN-peliky ceepxy n 3atem o 85 5
3alLerikMBaeTCsi CHU3Y
en Disassembly de Demontage es Desmontaje fr Démontage it Smontaggio sv Demontering cn iRE rus Pa36opka
en (1) shove the Terminal Units from each other cn (D R JIHEBAE— R ER D TT
@ pull down the Terminal Unit and @ KRB A TR, 285 [ M EAR A
® remove it ® HFEMR
de (1) Klemmenbldcke auseinander schieben ru (1) OTOABMHLTE MOHTaXHbIE OCHOBaHMS APYr OT Apyra
(@ Klemmenblock nach unten ziehen und () noTAHUTE MOHTaXHOE OCHOBAHME BHU3 1
® nach vorne abnehmen ® cHumuTe ero
es (D separar los bloques de bornas por desplazamiento

(@ tirar el bloque de bornas hacia abajo y
®) retirarlo hacia adelante

glisser latéralement

fr () Séparer les embases de connectique en les faisant [

(@ Pousser vers le bas 'embase de connectique et

®) la faire pivoter vers l'avant

it (1) Spingere i supporti base scostandoli I'un I'altro

() Tirare verso il basso il supporto moduli e
® rimuoverlo in avanti

sv (1) Séara pa anslutningsplattorna
(@ Dra plattan nedat och

® ta bort framat




en Assembling with screws de Montage mit Schrauben es Montaje con tornillos fr  Montage a vis

it  Montaggio con viti sv  Montage med skruvar cn ERMETRE

ru ernneHue BUHTaMU

en TAb526 is snapped on the rear side of the Terminal Unit like DIN rails.

I de TAb526 an der Rickseite des Klemmenblocks wie eine Hutprofilschiene einschnappen.
| (g1 es Colocar el TA526 en el lado posterior del bloque de bornas como si fuese un carril DIN.
D/ r fr  Encliqueter I'accessoire TA526 au dos de I'embase comme un rail DIN.
j—Eoz it Far chiudere a scatto la TA526 nella parte posteriore del supporto base, come fosse la barra DIN.
‘- sv  Snapp fast TA526 pa anslutningsplattans baksida som en DIN-skena.
L cn  TEJEHR (1978 1 2 B B TA526 (WIDIN T 52 4%)

ru TA526 ycTtaHaBnMBaeTCs Ha 3aHIO CTOPOHY MOHTaXHOro ocHoBaHus kak DIN-perika.

en The insertion of the accessories TA526 for wall mounting is essential.

I de Das Einsetzen der Zubehorteile TA526 ist fur die Wandmontage unbedingt erforderlich.
E es Es absolutamente necesario insertar los accesorios TA526 para el montaje en la pared.
TA526 o i fr  L'utilisation des accessoires TA526 est absolument indispensable pour un montage mural.
%E it  L‘applicazione degli accessori TA526 & assolutamente necessario per il montaggio a parete.
sv  For vaggmontage kravs att tillbehdrsdelarna TA526 anvands.
k cn  FEMIMR b 22T /ORRAR % AU I Bt - TAS26

ru  Vicnonb3oBaHwue akceccyapa TA526 Anst MOHTaxa Ha naHernb ABNseTcs obsi3aTenbHbIM.

en Fasten Terminal Unit with 2 (M4, max. 1.2 Nm) screws (front view).

e
e

|ooooooooog)

de Klemmenblock mit 2 Schrauben (M4, max 1,2 Nm) befestigen (Ansicht von vorne).
es Fijar el bloque de bornas con 2 tornillos (M4, max. 1,2 Nm) (vista de frente).

fr  Fixer le bornier a l‘aide de 2 vis (M4, 1,2 Nm maxi) (vue de face).

it  Fissare il supporto base con 2 viti (M4, max 1,2 Nm) (Vista anteriore).

sv  Skruva fast klamblocket med 2 skruvar (M4, max 1,2 Nm) (visad framifran).

cn ERBEANLS M, SR L ONmiFIRET K RAR TR (EALED

ru  33akpenute MOHTaXHOe ocHoBaHue 2 BuHTamu (M4, 1,2 Hm makc.) (Bua cnepeam).

en Dimensions de Abmessungen es Dimensiones fr Dimensions

it Dimensioni sv Dimensioner c¢n [~ ru Pasmepsbl

—— 84.5 (3.33) —=f
TU505-FBP 77 (3.03)
TU506-FBP ’
f—o 75 (2.95) ———==f
21(0.83) 57.7
54 (2.13) = (2.27)
§ T iy )
RS ~ 0| 38
o o 10 2 S o
g 3 Y o - B w0
! | o8 B Bl u]
@ T [odo o o O/0 O b “M
DIN rail 15 mm 2 5 8ls B @| s888 2 °
) 8 O 0JO O o O|c O )
DIN rail 7.5 mm -~ O O/0 O O 0|jo o « o
gacal || o Bass 0
’ i ¥ B | =
: © ojc o o gjo o (65.31) " o
L 28~ (1.10) I~ 67.5 (2.66) ——1
en Connection de Anschluss es Conexion fr Connexion it Connessione sv Anslutning cn & ru  Topkniovenne
@ en 1/0-Bus (10 pole, female) ey @ en Holes for wall mounting
de 1/0-Bus (10-polig, Buchse) o3 1 de Bohrung fiir Wandmontage

es
fr
it
sv
cn
ru

@ en
de
es

fr
it
sv

cn
ru

de

es

Bus I/0 (de 10 polos, conector hembra)
Bus E/S (10 pbles, embase)

Bus I/0 (a 10 poli, femmina)

1/0-buss (10-poligt, hylsdon)

T/08% (HEfL, 108

LLnHa B/B (10 KoHTakTOB, po3eTka)

Slot for FBP interface module
Steckplatz fur FBP-Interface-Modul

COR0)
B

Ranuras enchufables para cabecera de

interfaz FBP

Emplacement du module interface FBP
Connessione ad innesto per scheda
FBP-Interface

Insticksplats for FBP-granssnittsmodul
FBP 4 ML R A7 A ®

Cnot gns nHtepdeincHoro mogyns FBP

(@)

With a screwdriver, inserted in this place, adjacent Terminal Units
can be shoved from each other.

Stelle, an der benachbarte Klemmenblécke mit dem Schrauben-
dreher auseinander geschoben werden kénnen

Punto en el cual se pueden separar bloques de bornas vecinos
desplazandolos con un destornillador

de

es

es Agujero para el montaje en la pared
fr  Pergages pour montage mural

it  Foratura per montaggio a parete

sv Hal fér vaggmontage

cn I ZHEIR22 5L

ru  OTBepCcTUA ANt MOHTaXa Ha naHenb

@ en Neutral FieldBusPlug interface
de Neutrale FieldBusPlug-Schnittstelle
es Interfaz neutra FieldBusPlug
fr  Interface pour FieldBusPlug
it Interfaccia neutrale FieldBusPlug
sv  Neutralt FieldBusPlug-granssnitt
cn GEA MY S IE R AR
ru  HewTpanbHbii nHTepdelic FieldBusPlug

(® FieldBusPlug FBP /G
©]

20 screw-type terminals or spring terminals (signals and
process voltage)

20 Anschlussklemmen in Schraub- oder Federzugtechnik
(Signale und Prozessspannung)

20 bornas de conexion detornillo o de resorte (sefiales y
tension de proceso)

+24VDC
Diagnostics
oV

Serial Data
Serial Data

ahwN =

fr  Encoche pour glisser tournevis servant a séparer les embases fr 20 bornes de raccordement a vis ou a ressort (signaux et
de connectique en les faisant glisser latéralement tension d’alimentation)
it  Posizione in cui i supporti base vicini possono essere allontanate it 20 morsetti di collegamento a vite oppure a molla (segnali e
reciprocamente utilizzando un cacciavite. tensione del processo)
sv Stallet dar plattan kan skjutas iséar med skruvmejseln sv 20 anslutningsplintar med skruv- eller fiaderteknik (signaler
cn  FHBLTIFINILAL, PO B — i (KRR B L 43 TF och processpanning)
ru  CocefHMe MOHTaXHbIE OCHOBAHMS MOXHO OTOABMHYTbL APYr OT cn  20MRAT R E I T (fF 5 TR R L R e )
Apyra ¢ NoMoLLblo OTBEPTKMW, BCTABNEHHOM B 3TO MECTO ru 20 BUHTOBbIX UMK MPYXUHHbBIX KNEMM (CUrHasbl 1 NUTaHne
kaHanos B/B)
en Terminals de Anschlussklemmen es Bornas de conexion fr Bornes de raccordement
it Morsetti connessione sv  Anslutningsklammor cn ImF ru  Knemmbli
Ol@a|h TU505 O TU506
Olo|s en Screw-type terminal O‘-SD en Spring terminal (screw-driver opens terminal, see S500 system data chapter)
Olols de Schraubtechnik O‘-9|:| de Federzugtechnik (Schraubendreher 6ffnet Klemme, siehe S500-Systemdaten)
i ’ es Técnica de conexion ; es Técnica de conexion por resorte (el destornillador abre la borna, véanse los
0.6 Nm por tornillo datos de sistema S500)
omm S8ib-in fr  Bornes a vis 89 mm fr  Bornes a ressort (le tournevis ouvre la borne, voir informations sur le systéme
A pasmm it Terminale a vite A S500)
e e sv  Skruvteknik minfnax 235mm jt  Terminale a molla (cacciavite apre il morsetto, vedere dati sistema S500)
AWG 22-14 cn  MEETEF AWG 2214 sv  Fjaderteknik (skruvmejseln dppnar kldmman, se S500-systemdata)
ru  BuHTOBas knemma cn  BRENGT (IR0, S HS500 RGEHE — 5
ru  TpyxuHHas knemma (OTKpbiBaeMasi OTBEPTKOW knemma, cM. rmasy CuctemHble
naHHble S500)

Torque according UL : 5.3 Ib-in

3ADR024005M6801



